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Since this was decreed first, why do we need more

Overview

The X721 concludes that we must assume that the 77°72 on 790 nnn” NIRAT Y7 was
first, and afterwards the 77°1 on and o°7, for if the first 77°72 was on ano 2’7, why
make a ‘needless’ 77°12 on 190 NN MIRAT 2°7°. Our MdOIN discusses that there may
be a need for 190 MM NIXAT 027 even after anNd 2°7°.

nooIn asks:
- Yyt NYON XYY NP0 INN T 9902 YA N RPDI NN TN ON)

And if you will say; but there is a difference if there is a 77°1 on nnnn NIRAT 27
790 even after the 737°1) on 2nd 2’7, in a case where someone touched a =59

immediately after washing his hand for ano o°7> and his mind was not distracted -
= 7399 %2597 QYN ZmNnpv 1915 991 1929N)

But nevertheless his hands are still nIX»w because of the 7777 of 8'"%! Why does
the X3 consider the 5"17 777°1 as being superfluous, since there is a 73779 »"po1?!

Mo0IN answers:
= D903 NN T 9902 ¥HOY NON NNIY RIT XNIMT 1PN 1N KXY XD 0IVNT 90 U

And one can say; that on account of this situation, where he touched a 790 after
"1 before Ny o 7, they would not have make a 79313, for it is an uncommon

occurrence that he should touch a 15° immediately after >''t3, therefore once they

were 1) on and 0°7°, there was no need to be 2113 on "7 07 since it is uncommon -
$IPYHN RHY N9DY 19T NHIVIY TIND YN ITIAN NYIIA 990 NNNN O INNT XNYN 399

However now that they were first 9112 on 250 n2n» 2579, so even if he touched a
Tovr® Tme 190 (without nvTa no°7), they were =ma that his 07 are Xnv, (even
though that and 2°7> n7°12 7¥72 his hands are 7nw), for the 2°mdn did not

differentiate whether it is a Xm°2WwT XN?n or not, once the 771°13 of 150 NaMn o7 was already
enacted.

Summary

"If he was ny7 m°on, his hands become Xnu again because of 0> ano until he washes 27 n?°v3 again. 0°7° oo are
always Xnvn unless there was 0°7° n?°01 and no ny771 1o from keeping his hands 21mv.
2 If there is no 5"77 717713, as long as he is not ny7 1°on his hands are 717 even if he touched a 750 after >"v1, but if we
maintain the 77°13 of 8", his hands will be X»v if he touched a 790 after *"v31, even though he was not ny7 ron.
? mpon may be explaining why they kept up the 771 of 5", since it is effective only by a Xm*2w X27 2. See
‘Thinking it over’.
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The 2°non do not enact a 177°13 for a XPOW K77 XN?°A, however once it is enacted it
applies even to a Xr°ow X?7 ¥n?°». The 77°12 of 150 nann o°7° is in effect even after
the 77°1 of 0°7° ono regarding a XM°OW X?7 RN?N.

Thinking it over

Why is m901n certain that the 77°12 of 790 nnann 07 1s still in effect even after nN7°1a
ano o7;" perhaps once there was the 771 of and a7, they abolished the 771 of
990 Nann o7, since it is effective only by a Xmow K27 XN ?

* See footnote # 3.
> See TR X"wAAn (and) in the w MR 7" 9y yaIp.
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